VCE & PDF https://www.passapply.com/Ix0-104.html|
2024 Latest passapply LX0-104 PDF and VCE dumps Download

PassApply.com

L X0-1040%As

CompTIA Linux+ [Powered by LPI] 2

Pass CompTIA LX0-104 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/Ix0-104.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

LX0-104 PDF Dumps | LX0-104 VCE Dumps | LX0-104 Study Guide 1/3


https://www.passapply.com/lx0-104.html
https://www.passapply.com/lx0-104.html
https://www.passapply.com/lx0-104.html

VCE & PDF https://lwww.passapply.com/Ix0-104.html
2024 Latest passapply LX0-104 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Which of the following parameters are used for journalctl to limit the time frame of the output? (Choose TWO correct
answers.)

A. --from=
B. --since=
C. --until=
D. --upto=
E. --date=

Correct Answer: BC

QUESTION 2

Which configuration file would be edited to change the default options for outbound SSH sessions?
A. /etc/ssh/sshd_config

B. /etc/ssh/ssh

C. letc/sshiclient

D. /etc/sshissh_config

E. /etc/ssh/ssh_client

Correct Answer: D

QUESTION 3

What output will the following command produce?
seq1520

Al

B.1

E.5

Correct Answer: A
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QUESTION 4

What is true regarding the statement beginning with #! That is found in the first line of a script?
A. It prevents the script from being executed until the ! is removed.

B. It specifies the path and the arguments of the interpreter used to run the script.

C. Itis a comment that is ignored by the script.

D. It specifies the character encoding of the script.

Correct Answer: B

QUESTION 5

What is the difference between the commands test -e path and test -f path?

A. They are equivalent options with the same behaviour.

B. The -f option tests for a regular file. The -e option tests for an empty file.

C. Both options check the existence of the path. The -f option also confirms that it is a regular file.
D. The -f option tests for a regular file. The -e option tests for an executable file.

Correct Answer: C
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